OeMdn 9°

5) &V:”/""(V‘-OWf 2F=2+ (v=L) . s €= 5v-4

) 180 = 57 ~% 3,
Sy - .33[
Z (“%+9%7) =10.99 = 990 /Svri—“ K/m/\/)
— ‘ 
EeMA 32

) Lm0 wa ALY
Ix-L1>2 = 7~L22 x5 3

o ST
Az (Cor-n ['s,4) U (40

U/ To © JSev Svnka @o /4,§/ o 72(\\/4.// 7 ¢V j‘/y.

é)(‘x7=()/ [’N"i]:‘e D W S /x:}
it M
XK~L=~2 N’Z-L.

/e ¢ '
X' X 7oy ZEVH  Gey 0\'\‘4(:«:{ A (“1) O) 5 3/310)

Tov

eemp Y=

Al Te Me 6 Ce L (2)=-2, g4+l =—2 Jutf~2
__214.:——[0, K=$+S

B?LA,M k=5 gcn):z ><2~'5‘?<1-L/ / x=sxrty=o0 e 4/10)
(_'1) %CX’) >§>§X) ’KA“E‘??(HQ >0 92 & ECIH,O)
x\,o_<% ( - ]/T’_F/

oy (—w,%")u (5, +e)

x=/

L}-,.) H Cg rehver oa U/]' fo Aukbo N (0,-€)
H evddd ne Ot texétdl uno <L AR d M (-2,~2)
udi A (0,—-6) €REL I Loy - d:olx.(_'g @)

7o M 1wv eaemdedc . _ g~ g.. 7;; =2
0 N M L -6 = 8 p =6
Led o T 2X—4



